7. Siif Ingilizce Ara Degerlendirme Testi Coz

Bosluga uygun olan segenegi isaretleyiniz.

My sister is . She gets on well with
everybody:.

A) clumsy B) punctual

C) selfish D) easygoing

Cevap :

Asagidaki ciumleyi tamamlayan secenegi
igaretieyiniz.

Couch potatois a personwho

A) likes potato very much.
B) works hard and have no time to rest.

C) spends much time sitting or lying down
in front of TV.

D) talks too much and makes jokes.

Cevap : C



3. Diyalogu tamamlayan secenegi isaretieyiniz.

 youtrain?

A) From 10:30 to 13:00.
B) At the weekend.

C) Three times a week.
D) Yesterday.

Cevap : C



Resimde gosterilen
bolim hangi hayva-
na aittir?

A) It belongs to bull.

B) It belongs to a deer.
C) It belongs to a goat.
D) It belongs to a bird.

Cevap : B
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ve 7. sorular asagidaki okuma metnine
gobre cevaplayiniz.
;=\
William Shakespeare was born in 1564. He
grew up in England in the time of Queen
Elizabeth |. His father was mayor. He had
lessons in Latin, Greek and History at
school. He left the school at the age of

16. In 1582, he got married and had three
children.

Shakespeare wrote at least 38 plays. He
also wrote some long poems and a lot of
short poems called sonnets. He died in
1616. He is one of the world’s greatest
writers. His plays are performed all over
the world. Students study Shakespeare at
schools.

5.  When did Shakespeare get married?

A) In 1564.
B) In 1582,
C) At the age of 16.

D) At the age of 38.
Cevap : B



6.  What is the importance of Shakespeare?

A) He is the son of mayor.
B) He had three children.

C) He studied Latin, Greek and history at
school.

D) He is one of the world’s greatest writers.

Cevap : B
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Which one is wrong?

A) He left the school in 1580.

B) He wrote plays, long poems and sonnets.
C) He died at the age of 40.

D) He is a famous writer all over the world.

Cevap : C



8. Tarifteki kisi hangi secenekte resmedil-
migtir?

—

Julie is tall and well-built |
with long, curly hair and
brown eyes.

D)
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Cevap : C



Bosluga uygun olan se¢enegi isaretleyiniz.

TARAFSIZ BOLGE
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" TARAFSEZ BOLGE
| _ SORU VE GORUSLERINIZICIN

BIZE ULASIN: twitter.com/ahmethc

Tarafsiz Bolge is a

A) weather forecast

B) discussion programme
C) music programme

D) soap opera

Cevap : B



10. Asagida tanimlanan hayvan hangi sece-
nekte gosterilmigtir?

It is @a mammal and marine animal. It is the

largest animal. People hunt it for its oil and
meat.

Cevap : B



11. Asagidaki konusmaya gore secenekler-
den hangisi yanhstir?

- We beat them two to one.

A) We scored two goals.
B) We won the match.
) It was a draw.

D) They lost the match.



12. Asagida verilen bilgilere gore secenekler-
den hangisi yanhstir?

Ali is a shop owner. He is 170 cm. and 90
kg. He earns 20.000 TL a month. He has two
houses and an expensive car.

Ahmet is a worker, He is 190 cm. and 85 kg.
He earns 1.500TL a month. He hasn’t got
any houses or cars.

A) Aliis taller than Ahmet.

B) Aliis richer than Ahmet.
C) Ahmet earns less than All.
D) Ahmet is thinner than Ali.

Cevap: A
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